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1
1. Consider f(z) = —2® — 82” on the interval [0,3]. Then f(z) has absolute
3

minimum at z =

(a) —
(b)

() 8

(d) 16

(e) -8

2?(z — 2)

. The graph of y has
x—1

2. Consider the function y, where ¢ =

a local minimum at z = 2 and no local maximum (correct)

a local minimum at z = 2and a local maximum at x = 0

a local maximum at x = 2and a local minimum at z = 0

)
)
(¢) alocal maximum at z = 2 and no local minimum
)
) alocal minimum at x = 0 and no local maximum
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2
- —1
3. Vertical asymptote(s) of the graph of y = — is/are
x?—x
(&) €r = 0 (correct)
(b) x=1
(¢) z=-1
(d) z=0andz= -1
() x=-2
2
x° —3x
4.  The graph of f(zr) = ——— has
srap /() xr? —4x + 3
(a)  one vertical asymptote and one horizontal asymptote (corvect)
(b)  two vertical asymptotes and one horizontal asymptote
(¢)  two vertical asymptotes
(d)  one vertical asymptote and three horizontal asymptotes
(e)  two vertical asymptotes and one oblique asymptote
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5. Let f(x) then

:2:1:—3

f(x) has no inflection point (correct)

f(z) has inflection point at x = 2/3

—

f
S

()

(2)

(x) has inflection point at x = 3/2

(x) has horizontal asymptote at x = 3/2
(x)

x) has vertical asymptote at x = 2/3

6.  Given the demand function p = 500 — 5¢, then the marginal revenue is

(a)  decreasing only for g > 0 (correct)
(b)  increasing only for ¢ > 50

(¢)  increasing only for ¢ < 50

(d)  decreasing only for g > 50

(e)  increasing only forgq > 0
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7. A manufacturer finds that the total cost ¢, of producing a product is given
by the cost function ¢ = 0.01¢? + 11¢ + 100. The average cost per unit will
be a minimum if the number of units produced are

(&) 100 (correc t)
(b) 10
(¢) 300
(d) 1100
(e) 200
4 2
8. The function y = % — % — 6 is
1 1
(a)  concave up on (—oo, —§> and <§,oo> (correct)
1
(b)  concave up on (—5, oo)
1
(¢c)  concave down on (—oo, —§>
d concave down on | —oo, —1 and 1, 00
( 2 2

11
(e)  concave up on (—5, 5)
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9.  Let y'(z) = 922 + 2¢*, y/(0) = 2 and y(0) = 9. Then y(—1) is equal to

31 2

(a) Z + g (correc t)
25 2
b ~.z
(b) o+
31 2
S

25
(d) Z + 62
() —3+e
q° 4000
10.  Suppose that the demand equation for a product is 2+ 200~ 2 Using
p
d
differentials and the fact that d—q = —2.5 when p = 20, the approximation

of the number of product units that will be demanded if the price per unit
is reduced from p = 20 into p = 19.6 is

(a) 41 (onect)
(b) 42
(¢c) 38
(d) 35
(e) 40
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1. Ify(x) = B:Uj—x—.l—G and y(1) = 0 then y(x) is equal to
2
(a) lIl 33: 9+ 6 (correct)
1 2
(b) gln(i’)az + 6)
1
(¢) 3 In(32* + 6) + C
32246
d 1
@y
(e) —=(32°+6)°+C

12.  If the marginal-revenue function for a manufacturer’s product is

d
d_?“ = 100 — 12¢g — 5¢*, then the demand equation is
q

) p=100—6q — ¢* fcomeet)
) p=100q — 6¢° — ¢’
(¢) p=100— 12q — 5¢*
) p=100+ 10¢>
) p=10-5¢*
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13. /(306_3033 +e)dx

(a) —e 3% fex+tc (corvect)
(b)  —900e3% + ex + ¢
30
(c) ~37 e tex +c
(d)  —900e™3% 4 e* + ¢
(e) 6—30£L' + el‘ + c
Ve oo
14 /e\/fﬁ dr =
2
(a) _36@ +c (correc t)
NG
m) Yo+
1
(C) W +c
NG

(e) eV 4 ¢
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15. /(2633 +32° + 1% dr

e+1 1

__+C (correc t)
e+1 =z

X

(a) 2"+ 3

1
(b)  2e" 432+ —+c¢
x

e+1

d T3 ——

(d) e"+ ] :E+c
e+1

(e) 2e*+ * —In|z|+¢




